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5. In question 4, if Mr. Banarjee wanted to limit 5. WY 9@ 4 #, gfe off g1 g4 mﬁ%aﬁ

the increase in his expenditure to 5% on his

basic expenditure on petrol then what should

be the corresponding decrease in consumption

so that expenditure exceeds only by 5% ?
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6. The height of a triangle is increased by 40%. 6. U®% ﬁ’{-ﬁl G| (;?'I'vf 40% 9¢

Perce tage s

of the base so that the increase in area should g 60% B SITQ?
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20% and 50% respectively. Find the percentage 21 99T & 3ga+ o ufawra qﬁ Jid ﬁﬁm

change in the volume of the cuboid.

24P 432X V= /{KL’KL\
a. 77% r a. 77% x
: b. 75% k. —~ b. 75% o/ NN \ |
c. 88% — X224/ ( c. 88% /

p ) 10300 /11750



8. The price of sugar is reduc
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spite of the decrease, Aayush ends up

increasing his expenditure on sugar by 20%.

What is the percentage change in his monthly

consumption of sugar ?
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